Equilsbam Hactice Test |

|- & reversiblo, reaciion hak reachod o paid
P e I b el
%L contladt P R A’f{

A wrrevesible 4 revess\b\a

. 5 >C:

s

dees not ach ¢qudibnum

reaction %&\’ej/hu« MQMM

reachey eqwilibnum

MR M Coyrh el cwlmc&cts ne Changds oue
mMade Fo -HwSY e

CNAXNTILONS aie constand

3. open Systems are aflectid by wecto i1
m %\WF@ WF; so it ‘sgrmoxe et
(\%sp@g\g. Trig thdﬁ—ojf be conStant

eq. ik A < Pyotuced , W} con es
d megwﬁ Y W T P 1y
reAAse O by |

4.y left T left ©) Q= [c]
(b) leFE ) no d\aujn (&)*
Q> Koy, regchan shifts

5 4 wun - W@*ﬂtﬂ& ct ( (/'&15&)
| SNH gk
[0 pun = remove 'CO, shiff g 1A

I mun~ pressuse decpease | s ny At

7

Lo NL




b. @y KC‘[ WEAS
e b

b ) 2 ¢ Y = 2
i 0l 0.325 O
Sl ¥ 8 - X + 1

-

E Oull-32¢ 035-x A

7. 24 + 38 = C 0.214-2% = 0105
[ 0.214  0.89 O x = (0,057
6 =% = 37 A [8]= 0.736 4
E 0.11056 0.99-3x X (€)= 0.05\8H
Keg= [c] = 0,051¥
1 [7%77(373 0.1105)*(0.7135)°
= 10,7
& X + X = 7.
i 0 0, E50
C +X S) -
E 1 0.L5-x
Key= (2] x]= 0.295M
) [Y]= 0.355M
=0 = 6L5-F
72C
QA0 1 = O b5
22 0,295
9. Q= INJIH]? = (Lag)(Dl 79)3 = 0,009
[CAHs)? (1R )-

Keq < Q , se left =

v k773 /72.4 0.17¢
C +Qx -1 -3
€ 373+ /ZLF X 017973



